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Class:5 Subject : MATHEMATICS Term : FINAL TERM Max Marks : 80
Q1: The meric system is based on the system. Marks: 1
1. decimal |Zl ( This Answer is Correct )
2 . addition

3. subtraction

4 . division
Q2: The standard unit of length is Marks: 1
1. gram
2. kilogram
3. metre |Zl ( This Answer is Correct )
4 . litres
Q3: 1kL=__ L Marks : 1
1. 1000 |Zl ( This Answer is Correct )
2.2
3.1
4. 5
Q4: thg=___ g Marks : 1
1. one
2. 100 |Zl ( This Answer is Correct )
3. 120
4 . three
Q5: Convert 10.2 into fraction Marks : 1
1. 102\10 E ( This Answer is Correct )
2. 102\3
3. 102\4

4 . none of these
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Q6: 45X100 Marks :
1. 450 E ( This Answer is Correct )
2. 45
3. 45
4.0

Q7: Convert 29 kg into grams. Marks :
1. 82.6
2. 29000 grams E ( This Answer is Correct )
3. 0.826
4. 826%

Qs: On Fahrenheit scale water freezes at Marks :
1. 20 degree Fahrenheit
2 . 32 degree Fahrenheit E ( This Answer is Correct )
3. 20
4. 2\5

Q9: 726\___ =726 Marks :
1. 100 E ( This Answer is Correct )
2. 10
3. 1000
4. 1

Q10: 217.96 x 100 =7 Marks :
1. 21796 E ( This Answer is Correct )
2. 217.96
3. 2179.6
4. 21.796
Q11: If selling price is more than cost price,there will be a Marks :

1. loss
2 . profit |Zl ( This Answer is Correct )
3. both
4 . none of these
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Q12: 678cm=___m
1. 6cm
2.6.78m
3. 8cm

4. 4cm

E ( This Answer is Correct )

Marks :

Q13: Foot, mile are units to measure
1. length
2. mass

3. weight

S

capacity

|Zl ( This Answer is Correct )

Marks :

Q14: 5+ 1000 =7

1. 0.005

3. 500

E ( This Answer is Correct )

Marks :

Q15: 32+100=7
1. 032
2. 32
3. 32

4 . none of these

E ( This Answer is Correct )

Marks :

Q16: 102+10 =7
1. 102
2. 102
3. 100.2

4. 122

|Zl ( This Answer is Correct )

Marks :

Q17: 1x4.5="7

1. 45
2.45
3. 045
4. 1

E ( This Answer is Correct )

Marks :
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Q18: 227+10=___ Marks :
1. 2275 E ( This Answer is Correct )
2.5
3. 2725
4. 27.265
Q19: The decimal point separates the whole number fromthe __ part. Marks :
1. whole
2 . decimal E ( This Answer is Correct )
3. number
4 . none of these
Q20: 23kL=____ L Marks :
1. 23000 L |Zl ( This Answer is Correct )
2. 2300L
3. 230L
4. 23L
Q21: Multiply 6m with 5 Marks :
1. 36m
2. 30m |Zl ( This Answer is Correct )
3. 34m
4. 32m
Q22: 15ecm+3cm=7 Marks :
1. 17¢cm
2. 18cm |Zl ( This Answer is Correct )
3. 12cm
4. 41cm
Q23: 15kgx2=__ kg Marks :
1. 30kg |Zl ( This Answer is Correct )
2. 3kg
3. 15kg
4. 20kg
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Q24: 25cm=__ m Marks :
1. 025m E ( This Answer is Correct )
2. 25m
3. 25m
4. 255m
Q25: The face value and place value of zero is Marks :
1.0 |Zl ( This Answer is Correct )
2.1
3.2
4. 3
Q26: The place value of 7 in the number 5023785 is Marks :
1. 700 |Zl ( This Answer is Correct )
2. 70
3.7
4. 7000
Q27: The face value of 2 in the number 4537662 is Marks :
1. 30
2.3 |Zl ( This Answer is Correct )
3. 300
4. 3000
Q28: The face value of 2 in the number 2000000 is Marks :
1.2 |Zl ( This Answer is Correct )
2. 20000
3. 2000000
4. 20
Q29: Write the successor of 626 Marks :

1. 627
2. 623
3. 626
4. 624

E ( This Answer is Correct )
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Q30: Write the predecessor of 5321 Marks :
1. 5322
2. 5320 |Zl ( This Answer is Correct )
3. 5326
4. 5324
Q31: 356is ____ than 350. Marks :
1 . greater than |Zl ( This Answer is Correct )
2. smaller than
3. equalto
4 . none of these
Q32: MCC =7 Marks :
1. 1200 |Zl ( This Answer is Correct )
2. 120
3. 100
4. 1000
Q33: The standard unit of capacity is Marks :
1. litre E ( This Answer is Correct )
2. metre
3. kilometers
4 . gallon
Q34: Convert 5\10 into decimals Marks :
1.0
2. 01
3.05 E ( This Answer is Correct )
4. 03
Q35: 96.82X10 Marks :
1. 96820
2. 9682
3. 9682 |Zl ( This Answer is Correct )
4. 9.682
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Q36: 10mm=___cm Marks :
1.1 E ( This Answer is Correct )
2. 52
3.2
4.0
Q37: Write in decimal : 2+10 Marks :
1. 0.2 |Zl ( This Answer is Correct )
2. 275
3. 275
4.0
Q38: 125-0= Marks :
1. 125 |Zl ( This Answer is Correct )
2. 0.001
3.0
4. 100%
Q39: 5.05-5.05=7? Marks :
1. 10
2. 100
3.0 |Zl ( This Answer is Correct )
4. 1
Q40: The price at which an item is bought is called Marks :
1. cost price |Zl ( This Answer is Correct )
2. selling price
3. profit
4 . none of these
Qa: If cost price is more than selling price, there will be Marks :
1. loss |Zl ( This Answer is Correct )
2. gain

3. same loss and gain

4 . none of these
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Q42: 5600mL=___ L
1.56
2. 56
3. 0.56

4 . none of these

E ( This Answer is Correct )

Marks :

Q43: 620mg=__ g

2. 0.62
3. 628

E ( This Answer is Correct )

Marks :

Q44: 2.6,12.65,0.563 are __ decimals.
1. like
2 . unlike
3. both like and unlike

4 . none of these

|Zl ( This Answer is Correct )

Marks :

Q45: 2.04,524are______ decimals.
1. like
2. notlike
3. neither like nor unlike

4. 245

E ( This Answer is Correct )

Marks :

Q46: 7+10=7

|Zl ( This Answer is Correct )

Marks :

Q47: 7.203 x 1000 = ?

1. 7203
2. 7203
3. 7.203
4. 1

E ( This Answer is Correct )

Marks :
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|Zl ( This Answer is Correct )

Marks :

Q49:

636.52 + 1000 = ?

. 0.63652

63.52
635.2
4

|Zl ( This Answer is Correct )

Marks :

Q50:

5km = m

- 5000 m

500 m

50m

E ( This Answer is Correct )

Marks :

Q51:

Divide 42 m by 6

. 7m

6m
7.2m

82m

E ( This Answer is Correct )

Marks :

Q52:

6m-2m=7?m

. 4m

|Zl ( This Answer is Correct )

Marks :

Q53:

Multiply 1 x 9 g=?

.99

49
19
45

E ( This Answer is Correct )

Marks :
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Q54: Divided :Rs 4x 10 =? Marks :
1. Rs40 E ( This Answer is Correct )
2.2
3.1
4. 1\2
Q55: 9823 mL=___ L Marks :
1. 9823L |Zl ( This Answer is Correct )
2. 98.23L
3. 9823L
4. 9823 L
Q56: The number that comes just before a given number is called ____ Marks :
1. successor
2 . predecessor |Zl ( This Answer is Correct )
3. dividend
4 . divisor
Q57: VIlI=? Marks :
1.8 E ( This Answer is Correct )
2.7
3.5
4. 6
Q58: 10 +10410 =____ in Roman numeral is Marks :
1. XXX |Zl ( This Answer is Correct )
2. XX
3. X
4. XXXX
Q59: The normal temperature of human body on Celcius scale Marks :
1. 37 degree Celcius E ( This Answer is Correct )
2. 42 degree Celcius
3. 28
4 . none of these
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Q60: 12.5-0 = Marks :
1.0
2. 125 |Zl ( This Answer is Correct )
3. 125
4. 1
Q61: How would you write the fraction 2\10 as a decimal Marks :
1. 0.2 |Zl ( This Answer is Correct )
2. 0.02
3. 0.002
4. 2
Q62: Convert 90 m into kilometers. Marks :
1. 0.09 |Zl ( This Answer is Correct )
2. 900
3. 1\100
4 . none of these
Q63: On Fahrenheit scale the human body temperature is Marks :
1. 98.6 degree Fahrenheit |Zl ( This Answer is Correct )
2. 5000%
3. 2000%
4. 4000%
Q64: 23.8x __ =238 Marks :
1. 10 |Zl ( This Answer is Correct )
2. 2cm
3. 20cm
4. 0.2 meter
Q65: In decimal form 1\1000 is writen as Marks :
1. 0.001 |Zl ( This Answer is Correct )
2. 0.01
3. 0.01
4. 1
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Q66 : If c.p.= Rs 200 and Profit = Rs 20 then s.p = ? Marks :
1. Rs 200
2. Rs 220 |Zl ( This Answer is Correct )
3. Rs 100
4. Rs205
Q67: 2000grams=___ kg Marks :
1. 2kg |Zl ( This Answer is Correct )
2. 8kg
3. 0.02kg
4 . none of these
Q68: 0.48 is read as Marks :
1. forty hundreds
2 . forty- eight hundredths |Zl ( This Answer is Correct )
3. none of these
4. 47
Qe69: 2047=_ Marks :
1. 2047 +100 E ( This Answer is Correct )
2. 2047 =10
3. 2047 +20
4. 1\25
Q70: 6L=__ mL Marks :
1. 6000 mL |Zl ( This Answer is Correct )
2. 600 mL
3. 60mL
4 . none of f these
Q71: 4kg=___  grams Marks :
1. 4000¢g |Zl ( This Answer is Correct )
2. 4009
3. 40g

4 . None of these
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Q72: 90 hectagram=____ gram Marks :
1. 9000g E ( This Answer is Correct )
2. 900g
3. 90g
4. 9g¢g
Q73: Average is a number which gives usthe ____ value. Marks :
1. middle |Zl ( This Answer is Correct )
2 . subtracted number
3. added
4 . divided number
Q74: 63L=__ mL Marks :
1. 63000 L |Zl ( This Answer is Correct )
2. 633L
3. 6300L
4. 630L
Q75: 320mm=___cm Marks :
1. 32cm E ( This Answer is Correct )
2. 32cm
3. 322cm
4. 32.3cm
Q76: 7000mg=__ g Marks :
1. 70.00g
2.07g |Zl ( This Answer is Correct )
3. 700g
4. 79
Q77: 50000 + 300 = ? Marks :

1. 50300
2. 50030
3. 53000
4. 50003

E ( This Answer is Correct )
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Q78: 443055026 is written using commas as Marks : 1
1. 443,055,026 E ( This Answer is Correct )
2. 443,055,026
3. 443,055,026

4 . none of these

Q79: XL=? Marks : 1
1. 45
2. 40 E ( This Answer is Correct )
3. 24
4. 10
Q8o: 9 in Roman numerals is Marks : 1
1. IX |Zl ( This Answer is Correct )
2. Xl
3. X
4. |
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